Lesson 2 Subtraction PUZZLE

Name

Directions: Click on the video button or scan in the QR Code to solve this
puzzle. Use the clues to solve each puzzle. To find the correct number, cross
out the answer to each clue in the square. Your answer will be the number

that is left..

1) It's not 29 - 10 or 15 - 4

mm It'snot 19 -50r 17 - 4
mmm It'snot 18 - 6or 20 - 5

mmm It'snot 19 -30r24 -7
What is the number ?

mm 2) It's not 16 - 4 or 18 - 1

It'snot 19 -50r 16 -5
mmm It'snot 18 - 20r 16 - 3
mmm It'snot 18 - 30r 19 - 1

What is the number ?

CLICK
HERE FOR

3)It'snot 28 - 20r 29 - 5
It'snot 34 - 6or27 -5
It'snot 34 - 5or 27 - 6
It'snot 36 - 90r 29 - 6

What is the number ? _

4)It'snot 37 - Bor 27 - 6
It'snot 29 - 30r 30 - 6
It'snot 37 - 90r 30 -5
It'snot 36 - 90r 27 - 4

What is the number ?



https://drive.google.com/file/d/0B-TuGxztps3TUmdJLUlnZmdFWnM/view

